January 28, 2022

fon=satd

19) + M2)
[oft= 5‘-~Fa)+;h¥( )+ o

7
o+ [F(l-f)hf(?-) HA(2:S) + F(3)] =4 T 14(1.5) 1 £2) + $23)

= - 1-22'75
' ’/;([/o.7s+lé #aa7s + 31\ L[740751 6

= L[569
= Ix[80.S) [565]
= Y40. as L'—‘H = 28.aS




January 28, 2022

D 4 ')Clﬂ' Vlffqus Tadehait. Tnksmls

resulds h & numancal velus Funchm 1 C

f (4x+3)dx f Cur3d dv
- = _-Y-z, (4x+~3)0(x

S
=4 +3ctC .

;b S
= axs 3x+c\

’5°+'5+£/—-(?+ £

>
~v\/‘—/\/‘/\/-\/
y x (X +3 %X du= ldx

ﬁu 3)64’/2' Aw

J‘o' ¥ _ ul/")Ju,
/ 9

17

(/( )/3
S/-’( a 3/2, ‘1

L'.

a4’ - 3‘3\’1,—

422 — 3
s —
yax _ 1%
=

X3
S




January 28, 2022

S @)= % TX\

= G+3(hF =) iﬂlejm%z Zﬂéj’lﬁ
area beTwec

& Carve ¥ @\ 4XIS.




January 28, 2022

X b (3¢%1) g ¢
dx 6 An #t¥




January 28, 2022




